
S
R

A
I

Class-VIII

Sub : Mathematics

Assessment - 1

Sri Ramakrishna Ashrama Institute (High School)

F.M.-40                                                                                                        Time - 1 hr 10 min

1. ¢!àþ„þ vþz_îû!Ýþ !˜îÅy‰þ˜ „þöìîûy õ 1x4=4

i) þö„þy ä̃”%!Ýþ ö„þy’ þ™îûßþ™îû ¢Á™)îû„þ ö„þy’Ú éôôôéé þ
a) þ420, 380;      b) þ270, 550;      c) 350, 550;     d) þ700, 1100Ð

ii) þ™y£z!‰þöìe î,_„þœy†%!œîû ö„þw#ëû ö„þy’ 3600 ~îû éôôôé
a) †%!’“þ„þ £öìî—    b) ¦þ@Ày‚Ÿ £öìî—   c) ¦þ@Ày‚Ÿ ç †%!’“þ„þ—   d) ö„þyöì̃ y!Ýþ£z ˜ëûÐ

iii) ~„þ!Ýþ ¢›îy£% !e¦%þöì‹îû îy£%îû ÷”‡ÅÄ (4y+2) ö¢!› £öìœ– !e¦%þ‹!Ýþîû þ™!îû¢#›y éôôôé
a) (3x-6y) ö¢!›—    b) (2x-4y) ö¢!›—    c) (12y+6) ö¢!›—    d) (12x+4y) ö¢!›Ð

iv) (x-2)2 + (y-3)2 = 0 £öìœ– (x+y) ~îû ›y˜ £öìî éôôôé  a) þ5;    b) þ-1;    c) þ2;   d) þ3Ð

2. Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1x3=3

i) (a+b)2 + (a-b)2 = 2(a2+b2) ~!Ýþ ~„þ!Ýþ Ð
ii) ~„þ!Ýþ ¢îûœöì„þyöì’îû      x‚öìŸîû ¢Á™)îû„þ ö„þyöì’îû þ™!îû›y’ þ  !vþ!@ùÌÐ

iii) þ(    ) x (    ) þ =  Ð

3. ¢“þÄ xíîy !›íÄy !˜’Åëû „þöìîûy õ 1x3=3

i) þa5 - 2a2 + 3 ~£z ¢‚…Äy›yœyëû a2 ~îû ¢£† 2Ð
ii) 25% þ~îû þ™y£z!‰þöìe î,_„þœyîû ö„þw#ëû ö„þy’ 900Ð
iii) ”%!Ýþ xyœy”y ›)œ” ¢‚…Äyîû ›öì•Ä !˜!”ÅTþ ¢‚…Ä„þ ›)œ” ¢‚…Äy xyöìŠéÐ

4. !˜Á¬!œ!…“þ ²ÌÙÀ†%!œîû vþz_îû ”yç õ 2x6=12

i) A : B = 2 : 3, B : C = 4 : 5, C : D = 6 : 7 £öìœ– A : D = „þ“þÚ
ii) a ~îû ö„þy˜ ›yöì̃ îû ‹˜Ä ax + 5 = x + 3 ¢›#„þîû’ £öìî ˜yÚ
iii) ‡rÝþyëû 33 þ!„þ!› öîöì† •yî›y˜ ö„þyöì̃ y îyöì¢îû 550 !„þ!› öëöì“þ „þ“þ ¢›ëû œy†öìîÚ

iv) ›y˜ !˜’Åëû „þöìîûy õ

v) þ™yöìŸîû !‰þöìe xKþy“þ ö„þy’†%!œîû
›y˜ !˜’Åëû „þöìîûyÐ

vi) x +     + 2 = 0 £öìœ–  x2020 +           = ?

5. öëéôéö„þyöì̃ y ”%!Ýþ ²ÌöìÙÀîû vþz_îû ”yç õ 3x2=6

i) 30 !›Ýþyîû ”#‡Å ~„þ!Ýþ ‡öìîûîû ö›öìGþ „þyöìþ™ÅÝþ !”öìëû ‘þy„þöì“þ 150 Ýþy„þy …îû‰þ £ëûÐ  !„þhs$þ ²ÌÞí 5 !›Ýþyîû „þ› £öìœ– 120 Ýþy„þy …îû‰þ
£ëûÐ  ‡îû!Ýþîû ²ÌÞí „þ“þÚ

ii) 150 !›Ýþyîû ÷”öì‡ÅÄîû ~„þ!Ýþ öÝþÆ̃  12 þö¢öì„þöìuþ ~„þ!Ýþ †yŠéöì„þ x!“þ„Êþ› „þîûœÐ öÝþÆ̃ !Ýþîû öî† „þ“þÚ

iii)      ç     ~îû ›öì•Ä 10!Ýþ ›)œ” ¢‚…Äy öœöì…yÐ
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6.  !˜Á¬!œ!…“þ ²ÌÙÀ†%!œîû vþz_îû ”yç õ 3x3=9

i) þvþzêþ™y”öì„þ !îöìÙÕ¡ì’ „þöìîûy õ  x2 - y2 + 6ax + 2ay + 8a2

ii) ¢›y•y˜ „þöìîûy õ        -      =  3     -

iii) öëéôéö„þyöì̃ y ~„þ!Ýþîû ¢›y•y˜ „þöìîûy õ
a)  ö„þyöì̃ y ¦þy† xöìA„þ ¦þy‹„þ (x-4), ¦þy†šþœ (x2 - 4x + 4) ç ¦þy†öìŸ¡ì 3 £öìœ– ¦þy‹Ä „þ“þÚ
b)  ¦þy† „þöìîû ¦þy†šþœ ç ¦þy†öìŸ¡ì !˜’Åëû „þöìîûy õ
     (x2 + 11x + 27) ÷ (x + 6)

7. i) þ™yöìŸîû !‰þöìeîû ∠ABC ç ∠DBC ¢!§¬!£“þ !„þ˜y !î‰þyîû „þöìîûyÐ 1

ii)

                                                                  ∠BOD, ∠BOC þ~î‚ ∠AOC þ~îû þ™!îû›yþ™ öœöì…yÐ 2
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